
INSTALLATION INSTRUCTIONS: 76-86 Jeep CJ 
Steering Box Brace 

Part # 55060 

1 

Ph:(619) 216-1444  Fax:(619) 216-1474  E-Mail: tech@explorerprocomp.com   Website: www.explorerprocomp.com 
PRO COMP SUSPENSION, Inc.  Chula Vista, CA  USA 

     Steering Brace Tube 1 ea 
     Steering Box Clamps 2 ea 
     7/16”x1 1/2” USS Bolts 4 ea 
     7/16” USS Locknuts 2 ea 
     7/16” Uss Flat Washers 2 ea 
     7/16” Lock Washers 2 ea 

Bill Of Materials 

Part # Description   Qty.      

Revised:  6 /8/05 

Instructions: 

⇒  Remove rear bolt in the front spring hanger on the passenger side. 
⇒  Install brace flat plate here using the new hardware for both holes do not tighten.  

(Hanger bolt and hole 2 1/2” to the rear). 
⇒  Install clamp halves.  Locate brace tube, between the clamp halves. 
⇒  Torque frame bolts to 60 ft./lbs. 
⇒  Torque clamp bolt at brace to 60 ft./lbs then the opposite bolt to 60 ft./lbs. 
 NOTE: Make sure steering linkage will go full left and full right without any binding or 
interference before driving vehicle. 

INSTRUCTIONS: 

Brace Tube 

7/16” Bolt and 
Nut (2 ea) 

Clamp  
Halves 

7/16”x1 1/2” 
Bolt (2 ea) 

Flat 
washer 
(2 ea) 

Lock  
washer  
(2 ea) 


